
Scientific Notation (H)Convert each number from scientific notation to an ordinary number.
3.6 × 10⁸ = 3.2 × 10⁵ =

7.85 × 10⁸ = 6.644 × 10⁴ =
2.225 × 10⁶ = 4.997 × 10⁴ =
6.92 × 10⁶ = 1.34 × 10⁶ =

4.237 × 10⁸ = 4.946 × 10⁸ =
1.86 × 10⁸ = 1.7 × 10⁶ =
1.64 × 10³ = 6.176 × 10⁴ =
8.8 × 10⁶ = 9.8 × 10⁷ =
3.9 × 10⁴ = 5.83 × 10⁷ =
7.2 × 10⁵ = 4.626 × 10⁵ =
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Scientific Notation (H) AnswersConvert each number from scientific notation to an ordinary number.
3.6 × 10⁸ = 360,000,000 3.2 × 10⁵ = 320,000

7.85 × 10⁸ = 785,000,000 6.644 × 10⁴ = 66,440
2.225 × 10⁶ = 2,225,000 4.997 × 10⁴ = 49,970
6.92 × 10⁶ = 6,920,000 1.34 × 10⁶ = 1,340,000

4.237 × 10⁸ = 423,700,000 4.946 × 10⁸ = 494,600,000
1.86 × 10⁸ = 186,000,000 1.7 × 10⁶ = 1,700,000
1.64 × 10³ = 1,640 6.176 × 10⁴ = 61,760
8.8 × 10⁶ = 8,800,000 9.8 × 10⁷ = 98,000,000
3.9 × 10⁴ = 39,000 5.83 × 10⁷ = 58,300,000
7.2 × 10⁵ = 720,000 4.626 × 10⁵ = 462,600
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